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#i ncl ude<i ost r ean
usi ng nanespace std;

mai n()

t
int i=1;
int fact=1;
int max;

cout << "Enter a non-negative integer |less than 20 ";
cin >> max;

whi | e(i <max)

i ++;
fact =fact *i ;
}
cout << max << " factorial is equal to " << fact << endl
}
exl. cc

#i ncl ude<i ostr ean
usi ng namespace std;

int factorial (int value)

r
int i=1;
int fact=1;

whi | e(i <val ue)
(I

i ++;

fact =fact*i;

return(fact);

}
mai n()
int max, a;

cout << "Enter a non-negative integer |ess than 20 ";
cin >> max;

a=factorial (max);
cout << max << " factorial is equal to " << a << endl

i f (max<19)

max=max+1;
a=factorial (max);
cout << max << " factorial is equal to " << a << endl

#i ncl ude<i ostr ean
usi ng namespace std;

int factorial (int value)
t

int i=1;

int fact=1;
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whi | e(i <val ue)

i
i ++;
fact =fact*i;

return(fact);

}
mai n()

const int MAX FACTORI AL=20;
int max, a;

cout << "Enter a non-negative integer less than " << MAX FACTORI AL << endl
cin >> max;

a=factorial (max);
cout << max << " factorial is equal to " << a << endl

i f(max<MAX_FACTORI AL-1)
{
max=max+1
a=factorial (max);

cout << max << " factorial is equal to " << a << endl

#i ncl ude<i ost r eanp
usi ng namespace std;

/1 Finds the 2 roots of a polynonmial. "which" should be
/1 only O or 1. Different values of which give you the
/1 different roots. Doesn’t work if imaginary roots.
doubl e groot (double a, double b, double c, int which)

{
doubl e inside, top, bottom
i nsi de=b*b - 4*a*c;
i f (whi ch==0)
top=-b + sqrt(inside);
el se
top=-b - sqrt(inside);
bot t om=2* a;
return(top/bottom;
}
mai n()
{

doubl e n2coef, nlcoef, nOcoef;

doubl e root1, root2;

cout << "Enter the n squared coefficient ";
cin >> n2coef;

cout << "Enter the n coefficient ";
cin >> nlcoef;

cout << "Enter the constant coefficient ";
cin >> nOcoef;

r oot 1=qgr oot ( n2coef, nlcoef, nOcoef, 0);
r oot 2=qgr oot (n2coef, nlcoef, nOcoef, 1) ;
cout << endl << "The roots are " << rootl << " and " << root2 << endl



